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29th January

1,401,605 — 580,070

308 X 62

The perimeter of a square is 25¢cm

Find the length of each side.

Tim had some money
He spent £1.75 on a drink and £3.40 on a
sandwich.

He has four-fifths of his money left.

How much money did Tim have to start
with?

Hugo calculates the size of each angle for
a pie chart

Destination | Frequency
Employment | 15 |x 0.2 =3°
Apprenticeship 11 x 0.2=22"
Further Education | 40 |x 0.2 =8°
Gap Year 6 |x 02=1.2°

15+11+40+6 =72
72 = 360 = 0.2° per person

Can you spot what Hugo has done wrong?
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